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{0 omER OUT |IN GROSS HDCP NET £
B HE TR 42 39 81 9.0  72.0
HEENE F 45 | 43 88 150 | 73.0

3 T W 38 39 77 3.0 | 74.0

4 W BT 39 43 82 8.0 74.0

5 EX \E 40 @ 42 82 7.0 75.0

6 mER E— 41 | 42 83 8.0 75.0

7 MBI FEEE 43 48 91  16.0 | 75.0

8 xR Fk 43 | 40 83 7.0 | 76.0

9 BoFH —R 46 37 83 7.0 76.0

10 HH FARER 44 | 39 83 7.0 76.0

11 g & 43 | 48 91 15.0 | 76.0

12 %WH FX 43 | 40 83 6.0  77.0

13 FTER F 41 | 46 87 9.0 78.0

14 g £= 46 | 43 89  10.0 | 79.0

15 &l FE 48 | 44 92 13.0 | 79.0

16 B M 46 | 45 91  11.0 | 80.0

17 Jilg 8 49 46 95 14.0 = 81.0

18 XM ER 46 | 46 92 9.0 83.0

19 Bl B8— 46 | 51 97  14.0  83.0

20 [UE% fh 55 | 43 98 15.0 = 83.0

21 ®fE Edk 50 43 93 9.0 | 84.0

22 JER B 55 | 44 99 150  84.0

23 JWEE fak 52 48 100 16.0 = 84.0

24 Hx® M 49 | 47 96  11.0 | 85.0

25 TEE AR 48 49 97  11.0 | 86.0
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26 |EH+E Th 49 45 94 7.0 87.0
27 #EL&AKR HHE 60 41 101 | 14.0 | 87.0
28 |INRE EEE 58 47 105 | 18.0 | 87.0
29 =3 FIA 48 46 94 6.0 88.0
30 BH EX 52 51 103 | 14.0 | 89.0
31 A T 55 52 107 | 18.0 89.0
32 EF EE 53 51 104 | 13.0 | 91.0
33 |5 —= 60 48 108 13.0 95.0
34 |TE #H— 51 58 109 | 13.0 96.0
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&R /NI ] 45 44 89  23.0  66.0
YRR KRB IEF] 47 | 41 88  21.0 | 67.0
3 Bi BX 47 40 87  19.0  68.0
4 R ORE 43 | 42 85  15.0  70.0
5 GHEE FERE 41 | 50 91  20.0 71.0
6 SRH BHE 44 | 48 92  17.0  175.0
7 ER EmE 47T 49 96  21.0  175.0
8 BJI HE 42 | 43 85 9.0 76.0
9 fExKk E— 46 44 90 14.0  76.0
10 7ZEfpE &E— 46 48 94  18.0  76.0
11 #f F=7 50 | 47 97  21.0  76.0
12 BER < 48 | 41 89 | 12.0  177.0
13 WH R¥ 46 49 95  18.0  71.0
14 A% Rk 47 | 51 98  21.0  77.0
15 ZEE ¥t 48 54 102 24.0 @ 78.0
16 FiE 45 | 48 93 14.0  79.0
17 g 5h— 53 51 104 | 25.0  79.0
18 /hE #ER 50 49 99  18.0  81.0
19 /hER EXF] 49 50 99 18.0 = 81.0
20 AH HH 45 | 46 91 9.0  82.0
21 HH &' 48 | 48 96  12.0  84.0
22 ER B 52 | 46 98 14.0 = 84.0
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